5T B3 PA

T~ FEBR

HIJ\]HH it EJ[S, y F'J P EIIHI_}\]FIH:C LS 92 & 1 E'clfﬁ”[]p |17 TRLF IH\F:“ by S BT Sl 24 F
Hh- SRS R IR A ST A - aﬁ%ﬂ’Iﬁ%ﬂwﬁh%a ) REETI
ECE S %EE'E*F?’J[%B@“ PPN S o 38 FETF B o [EAGREET S e 05 - 0t E i e
FOurEm T N RYE R 2Lk s S R BT T SR I BRSPS T S [
%’ywﬂ%pmwﬂstﬁwwww@ﬂww+%#%fﬁgﬁgwﬁﬁﬁ - 61 F R P IRRL I [l
W&%ﬁ%ﬁﬂﬁ“'mﬁppw@g#ﬁth‘% %ﬂﬁ%z:inéyﬁ@\@ﬁw%B@wo
763H77_nwmﬁ%ﬁﬁﬁﬁ>iﬂpa¥wo SHIHEF%Fﬁﬁ' = N e A 0

SRS N PR ST RS FUE B AR VPR A R R -

PO (95) A RS EEUR MO SR LIRSS A
ﬁin’iﬁi@\ﬂﬁwJpg&ﬁ%ﬂ@”mlwwﬁ%q@ﬁ"drﬁi“ﬁﬁ‘Eﬁﬂwﬁu P
FRELT A RLE VI~ BURTIER o R R L SR ﬁﬁW@%ﬁ
5 PR IHELARER o TR T R PR 2 ST SRR R O - R
PY T PRBERIP Y — ABIEEI RF  SOBERIE S W A - RN B e Y
o T N R B T R T R SRR S LT MERREE - T 5 fY e
T 2 ARREER RO S AR ¢ R RO T e [

SR P 2 f[bﬁ*ﬁi“?ﬁﬁ?WJIJw%ﬁﬁf?”@gﬂiﬁlﬁ4ﬁ‘f§ﬂwﬁﬁi RS T 5
D RRFO LA SRR - P9t A BRI F IR
[ PR P RIBR L1 < 2505 7 A nﬂﬁ%%%nu

— ~ B -
2 R 4D 100 B i RO 2 R -
“~BTAHE:

2 FIFPRTEYAEES 1518 %+ i R SERT 1531~ o3 p 13~ o BT 1,261 * » F7 83.07
9/,‘§?§%[FF257 b 16939 -
S RESFEFEEEEARLEREE - (I f W%ﬁ@ﬂﬁﬁ%FVﬁﬁﬁloﬁ@ﬂﬁﬁtwm

(= )EREiE (i)

5 s " N 91 F HIRETE | 92 % YRR 93 F IR ETHE 94 F B BT 95 = TR

N, ';’ JANN El".E <§\El—l_;l NN E—I_EY ‘,Q’KQE#—I’_EIY ‘,(’thl_E‘l

ZEl I FrELE! e ﬁﬁb%' e EyIELED Ty E'I%%' Py E',J;ME—' Ry

comim | B e | | e | * |emmin] P [esp| W

lid F %@?ﬁlﬁﬁ 175,399| 94.25 166,549| 94.95 174,675| 104.88 177,791 101.78 176,043 99.02
(7 EREE)

[= F %@Wﬁl ﬂ% 177,987 100.37 169,046 94.98 172,426| 102.00 175,872| 102.00 172,771 98.24
(G50

i bb %@%ﬁlfﬁlﬂ 2,978 81.97 3,999| 134.28 4,812| 120.33 4,109| 85.39 4920 119.74




s ow 91 F RIRETH | 92 F AyRETEr 93 = R ETE 94 = S BT 95 & S ETH
a i e .| FTEE .| FhEE .| EhEE .| EEE .
,FI EI FYI=E [ FyI=E Y[ EyI=E e EiI=E N Fii=E TTEN
) HERIE (i A HERIE A HERIET A KNI A RIESIE 1 L
CHEVEITT) CHEVEITT) CHEVELTT) CHEVEITT) CHEVEITT)
i BI| P 32,096| 72.45 52,015| 162.06 41,792| 80.35 39,000 93.32 40,000| 102.56
K =,
i a% %@Tﬁlfﬁﬁ *12,289( 103.88|  *12,482| 101.57 *17,201| 137.81|  *13,761| 80.00| *14,763| 107.28
ARG . B
f'#,”l i% %@Tﬁlfﬁw *16,450( 100.28|  *16,492| 100.26 *16,472| 99.88| *16,193| 98.31| *16,242| 100.30
()T HF] () &
— 91 & R 92 F YR ETE 93 F R IRETE 94 F B ETHE 95 F TR
ErYET -~
e TiH0g | RS | P9 | Y bl T 1496 B | 8% bl
W EHOFH sk 448  70.77 3.35 74.78 2.61 77.91 298| 114.18 2,99  100.34
2 S (=S 242 5845 1.56 64.46 1.06 67.95 1.43] 13491 1.53|  106.99
=g ST P 1.06| 182.76 0.78 73.58 1.07 137.18 1.22|  114.02 1.12 91.80

] (RY) FVFE FEMET I59 o h FRSHETCRT S5 P IEER 3.17% 4
iy BRI 3.0496 o [0f] IRV A Y 2.66%618 [ o F T A R R
Hyto T }l%“?\ﬁﬁ 1.869¢ Lided fly » & L LRI H 1.67% » [yl I R 0.2396 Rl % -

N AFEBEAEZRANS

— > BRI KRIBLE 2 FEET -

(= VT 850 [ 4,638 4 3,000 7 » ik 5 A S ETRE 815 (L 9,859 FY8.000 7 » FHETYI 34 4,778
ﬁ 5,000 7+ > 59 4.239% -

ZVETH A5 801 07,581 4 6,000 o dE - G SEETER 765 £ 5,634 F) 7,000 7 - FHET 36 i 1,946
ﬂ 9,000 71 - 5% 4.739% °

(2 )FFHALR 36 26,341 45,000 7 - ik - S ETR 38 [ 3,565 6,000 7 > Fhid D 1 & 7,224 F
1,000 7 » 54 4.499 -

(P FrH IS AR = > JEETH A A& 12 {00,715 ﬁ 2,000 7v > ik -5 SEETRY 12 £ 0,659 ﬂ 5,000 7 »
SHEp 55 ﬂ 7,000 7+ 5 54 0.059% -

COOFH I 1{702,990 F4 8,000 7 > if_ -5 SRR 1 (84,301 £, 4,000 7 > Fhd D 1,310 £ 6,000
T 549.16% ©

(CHYETH USR] 4,805 F1,7,000 7 > 5 -5 4 5F TR 4,969 1 4,000 7 > FHiE D 734 7,000 7 0 59 1.48
% °

CF VEFH R Is ARR i IR £ 12 %108,810 4 3,000 7 o -5 R ETR 12 (89,991 £5,000
7o FHE D L1814 2,000 7 %@091/

(7 )FHAIYE] 2 73,858 18,000 7 1 S ETEE 2 06,704 12,000 7 > FHE D 2,845 14,000
T 59 10.66% °

(TR PUcT AT BB M | - T30 £ 10 {4,951 F 5,000 7 - | i R SE R 10 (63 287 4 3,000



o FHHTIL664 42,000 7 0 591619 ¢

— - BB TRET
(= )F = TR E L 10 (84,951 45,000 7 o (RASTEEY -
LR« R G 409% » R 4 801,980 6,000 7 -
2 R GRS 2096 0 FE 2 (00,990 ) 3,000 7 -
BACRIATHL - AT T [elgreR > ARSI L ROV A e 4 (201,980 ﬂ 6,000 7 > &,
IS EIIPNE AL b e |
(5 ) F = BRI RGT AR 4 01,980 16,000 7 > G SHEIEE 4 601,314 £49,000 7 FHE
111665 FJ 7,000 7+ > 74 1.619% °
(Z)F = G RTERR FAF R fEE 100 [©or 1 4.209 - A& Fiov VEsy - SRR
AR F) 4.20 7o

= BERBZTEG :

COFFIFEL AL 211 06,488 41,000 7% -

EDEE RTINS S
LAY L e 55 (809,775 43,000 7 > ELHIERL 26 83,894 16,000 7 » G/

= JHe Y 35 22 (7 3,549 f;’l 9,000 7 - Vi PIEEYE 3 (E 1,353 f;’l 2,000 7 > VP evE A
&l Eﬁ; 8,991 15,000 7 15L& il 82 [ 3,669 FY 9,000 7 » B E HrsfL (ST S i 1,801 4 2,000
Al !ﬁfﬂbm%« 1517 9 {4,259 f 2,000 T BRI TR 66 (B 5,868 f | 2,000 Fo o S
[aﬁ‘”i?}ﬁ: 11,741 f1,3,000 7 -
TR YR 1 (R 1,741 f 13,000 7 o [FEEE- JUH ST F%ﬁﬁj?f%i;‘/sifv ﬁv?ﬁj P P 183
frij 3,000 7 Mg HEE 1,245 F42,000 7 B ) 9,082 141,000 7 o s iR 467
F9.000 7% > ftFiRfl 762 4 8,000 7 -

(& VHERE L ARTLE T 101 (6 6,985 4 9,000 7 - ELFIERLE W™ 6 1,726 F) 8,000 7 » 7 i i
VRS B S 107 (608,712 F1 7,000 7 > BERLE R A AR 101 (9,448 £ 8,000
7o EPIEIFETE 17,616 4 1,000 7 o SEAYIRLE AL 4 R0 1,647 £ 8,000 7

(P""HF = b%e;f,'a;fiét VISIHT 53 {89,726 ﬂ 9,000 7 - [FHHH ZFl & V%? THE 1,021 [#5,285 ﬂ 8,000 7+ >
- bwgﬂﬁ'% 967 & 5,558 FJ 9,000 74 7P B cuﬁ[fﬁw ) 5,312 ﬁ 1,000 7 > it
SELIT T 4 600,569 4 5,000 72 » IR 13 ffi 2] [ EEIRS i . ff i 55 e 52 € 2,281
fJ 43,000 7 & i’ F IEH;HJF'J Ve =) 2§ L8436f Ju o

\ FHINTRE -
F;ff?\_ﬁ],r 5 P SRR TR B o A E?Iﬁjfﬁiﬁi;l‘kﬂ@7%ﬁ\/Lgﬁ = N ﬁT I WS U‘ F:([
S FIET P Iﬁvglﬁji;‘jgg foe VI SRR A PRATE ,:Ll—:%;@rg, ﬁg%vp_tﬁp ;EET?{ EJr |
,FJEI :



i

i i -

Mt

B

Hlit : prir 5
F5

er VTR — IRy
S TR R A 3,300
L Tl

EViES 5"%’{.%7

[ T EEE o



